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 Before R2 cut
Nsig — 3401
Ngc = 3025

o After R2<0.3 cut
Nsig — 2684
NB_G =1755
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* Before Qi =0 cut
Nsig — 2684
Ngc = 1755

¢ After Qtotal :O CUt
Nsig — 2684
Ngc = 1755
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nLeptons

* Before nLeptons==2 cut
Nsig — 2684
Nsc = 1755

* After nLeptons==2 cut
Nsig — 2300
Nec = 1304
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For both B*B-, B°B°
backgrounds (norm. to

one stream).

After using all the signal
side veto cuts

Nsig = 11089

Nec = 10469

Ponzi FOM

Cut efficiencies and optimal cut value

Efficiency (Purity)
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~For 11089 signal and 10469 background

0.00 when cutlin% at 0.23
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